Chapter 5　Control Accounts

QUESTION 1

The following information appeared in the books of Peking Co for the month of October 2010:

Balances as at 1 October 2010:

	
	Dr
	Cr

	
	$
	$

	Accounts receivable ledger
	69,520
	1,070

	Accounts payable ledger 
	920
	42,150


Totals for the month of October 2010:
	
	$

	Sales journal  
	155,800

	Discounts received
	3,200

	Bad debts written off
	4,510

	Returns to suppliers
	34,870

	Carriage outwards
	2,150

	Cash and cheque received from trade debtors
	146,500

	Dishonoured cheques from trade debtors
	18,600

	Credit purchases
	151,200

	Cash sales
	50,000

	Trade discounts received
	950

	Cash and cheques paid to trade creditors
	99,900

	Debit balances in accounts receivable ledger set off against credit balances in the accounts payable ledger 
	6,500

	Allowance for doubtful accounts
	9,196

	Discounts allowed
	2,500

	Cash refunds to trade debtors 
	4,720


Balances as at 31 October 2010:

	
	Dr
	
	Cr

	
	$
	
	$

	Accounts receivable ledger 
	91,960
	
	?

	Accounts payable ledger 
	?
	
	55,650


Required:

Prepare the following accounts:

(a)
Accounts receivable ledger control
(5.5 marks)
(b)
Accounts payable ledger control
(4.5 marks)
Answer:

(a)
	Accounts Receivable Ledger Control
	

	2010
	
	
	$
	
	
	2010
	
	
	
	$
	

	Oct
	1
	
	Balance b/d
	69,520
	
	
	Oct
	1
	
	Balance b/d
	1,070
	
0.5
0.5

	"
	31
	
	Sales
	155,800
	
	
	"
	31
	
	Bad debts
	4,510
	
0.5
0.5

	"
	31
	
	Bank — Dishonoured cheques
	18,600
	
	
	"
	31
	
	Cash and bank
	146,500
	
0.5
0.5

	"
	31
	
	Cash — Refunds
	4,720
	
	
	"
	31
	
	Set-off — Accounts payable 
	
	
0.5


	"
	31
	
	Balance c/d (balancing figure)
	4,400
	
	
	
	
	
	ledger
	6,500
	
0.5
0.5

	
	
	
	
	
	
	
	"
	31
	
	Discounts allowed
	2,500
	

0.5

	
	
	
	
	
	
	
	"
	31
	
	Balance c/d
	91,960
	

0.5

	
	
	
	
	253,040
	
	
	
	
	
	
	253,040
	


(b)

	Accounts Payable Ledger Control
	

	2010
	
	
	$
	
	
	2010
	
	
	
	$
	

	Oct
	1
	
	Balance b/d
	920
	
	
	Oct
	1
	
	Balance b/d
	42,150
	
0.5
0.5

	"
	31
	
	Discounts received
	3,200
	
	
	"
	31
	
	Purchases
	151,200
	
0.5
0.5

	"
	31
	
	Returns outwards
	34,870
	
	
	"
	31
	
	Balance c/d (balancing figure)
	7,690
	
0.5
0.5

	"
	31
	
	Cash and bank
	99,900
	
	
	
	
	
	
	
	
0.5


	"
	31
	
	Set-off －Accounts receivable 
	
	
	
	
	
	
	
	
	

	
	
	
	ledger
	6,500
	
	
	
	
	
	
	
	
0.5


	"
	31
	
	Balance c/d
	55,650
	
	
	
	
	
	
	
	
0.5


	
	
	
	
	201,040
	
	
	
	
	
	
	201,040
	


QUESTION 2
The following balances were extracted from the books of Lucky Co as at 31 March 2011, the financial year-end date:


Dr
Cr


$
$

Accounts receivable ledger
17,822

Accounts receivable ledger control
34,890

Accounts payable ledger

24,182

Accounts payable ledger control

27,450

The reasons for the differences between the ledger and control accounts are as follows:

(i)
The purchases journal had been undercast by $4,000.

(ii)
A debt of $300 written off as bad in the last financial year was recovered on 31 March 2011, but no entry was made in the control account.

(iii)
Goods worth $500 returned by Miss Chan were wrongly recorded in the returns outwards journal and posted to the credit side of Miss Ng’s account in the accounts receivable ledger.

(iv)
The owner took $1,000 worth of goods for private use, but the amount was recorded in the sales journal and the accounts receivable ledger.

(v)
A contra entry of $5,500 in the control account was entered on the debit side of the accounts receivable ledger control account and the credit side of the accounts payable ledger control account.

(vi)
Discounts allowed of $368 were correctly posted to the individual debtor’s account, but credited to the discounts received column of the cash book.

(vii)
A debit balance of $5,200 was omitted from the list of debtors’ balances and wrongly shown as a credit balance of $3,400 in the list of creditors’ balances.

Required:
(a)
Draw up the accounts receivable ledger control account and the accounts payable ledger control account.


(7.5 marks)
(b)
Prepare a statement to revise the total of account receivable ledger balances.
(1.5 marks)
Answer:
(a)
	Accounts Receivable Ledger Control
	

	2011
	
	$
	
	2011
	
	$
	

	Mar
	31
	Balance b/f
	34,890
	
	Mar
	31
	Bank ─ Bad debts recovered (ii)
	300
	
0.5
0.5

	"
	31
	Bad debts recovered (ii)
	300
	
	"
	31
	Returns inwards (iii)
	500
	
0.5
0.5

	
	
	
	
	
	"
	31
	Drawings (iv)
	1,000
	

0.5

	
	
	
	
	
	"
	31
	Accounts payable ledger control — Contra ($5,500 × 2) (v)
	11,000
	

0.5

	
	
	
	
	
	"
	31
	Discounts allowed (vi)
	368
	

0.5

	
	
	
	
	
	"
	31
	Balance c/f
	22,022
	

0.5

	
	
	
	35,190
	
	
	
	
	35,190
	


	Accounts Payable Ledger Control
	

	2011
	
	$
	
	2011
	
	$
	

	Mar
	31
	Purchases (iv)
	1,000
	
	Mar
	31
	Balance b/f
	27,450
	
0.5
0.5

	"
	31
	Accounts receivable ledger 
	11,000
	
	"
	31
	Purchases (i)
	4,000
	
0.5
0.5

	
	
	control — Contra (v)
	
	
	"
	31
	Returns outwards (iii)
	500
	

0.5

	"
	31
	Balance c/f
	20,318
	
	"
	31
	Discounts received (vi)
	368
	
0.5
0.5

	
	
	
	32,318
	
	
	
	
	32,318
	


(b)
	Statement to Revise the Total of Accounts Receivable Ledger Balances as at 31 March 2011
	

	
	$
	

	Total of accounts receivable ledger balances before adjustments
	17,822
	
0.25

	Add
	Debit balance omitted from the list of debtors’ balances (vii)
	5,200
	
0.5

	
	
	23,022
	

	Less
	Drawings (iv)
	(1,000
	)
0.5

	Revised total of balance of accounts receivable ledger balances
	22,022
	
0.25


QUESTION 3
The following information was extracted from the books of Hills Top Co for the month ended 31 March 2010:
Trade debtors’ balances as at 1 March 2010:
Debit balances

$46,000

Credit balances

$425

Trade creditors’ balances as at 1 March 2010:
Debit balances

$577

Credit balances

$28,000

Totals for the month of March 2010:
Total purchases 

$80,000

Total sales

$120,000

Cash sales

$13,250

Cash purchases

$8,000

Returns outwards

$1,234

Returns inwards

$875

Debit balances in the accounts receivable ledger set-off
against credit balances in the accounts payable ledger
$580

Bad debt written off

$1,878

Cash discounts allowed 
$420

Cheques received from trade debtors
$113,440

Cash discounts received
$550

Cheques paid to trade creditors
$53,110

Cash refunds to trade debtors
$1,100

Increase in allowance for doubtful accounts
$1,250

Required:

(a) Write up the accounts receivable ledger control account and show the balance as at 31 March 2010, assuming there was no minority balance.
(5 marks)
(b) Write up the accounts payable ledger control account and show the balance as at 31 March 2010, assuming there was no minority balance.
(4 marks)
Answer:
(a)
	Accounts Receivable Ledger Control
	

	2010
	
	$
	
	2010
	
	$
	

	Mar
	1
	Balance b/d
	46,000
	
	Mar
	1
	Balance b/d
	425
	
0.5
0.5

	"
	31
	Credit sales ($120,000 – $13,250)
	106,750
	
	"
	31
	Returns inwards
	875
	
0.5
0.5

	"
	31
	Cash ─ Refunds
	1,100
	
	 "
	31
	Set-off ─ Accounts payable 
	
	
0.5


	
	
	
	
	
	
	
	ledger
	580
	

0.5

	
	
	
	
	
	 "
	31
	Bad debts
	1,878
	

0.5

	
	
	
	
	
	 "
	31
	Discounts allowed
	420
	

0.5

	
	
	
	
	
	 "
	31
	Bank
	113,440
	

0.5

	
	
	
	
	
	 "
	31
	Balance c/d
	36,232
	

0.5

	
	
	
	153,850
	
	
	
	
	153,850
	


(b)
	Accounts Payable Ledger Control
	

	2010
	
	$
	
	2010
	
	$
	

	Mar
	31
	Balance b/d
	577
	
	Mar
	31
	Balance b/d
	28,000
	
0.5
0.5

	"
	31
	Returns outwards
	1,234
	
	 "
	31
	Credit purchases ($80,000 – $8,000)
	72,000
	
0.5
0.5

	"
	31
	Set-off ─ Accounts receivable 
	
	
	
	
	
	
	

	
	
	ledger
	580
	
	
	
	
	
	
0.5


	"
	31
	Discounts received
	550
	
	
	
	
	
	
0.5


	"
	31
	Bank
	53,110
	
	
	
	
	
	
0.5


	"
	31
	Balance c/d
	43,949
	
	
	
	
	
	
0.5


	
	
	
	100,000
	
	
	
	
	100,000
	


QUESTION 4
Kelly Chow has presented the following information for the month ended 31 October 2010:
Accounts receivable ledger:
Oct
1
Debit balances
$10,320

Credit balances
$3,480
Oct
31 
Debit balances
$12,000


Credit balance
$144

Totals for the month of October 2010:
Credit sales

$14,052

Cash sales

$6,828

Cash received from trade debtors
$8,580

Allowance for doubtful accounts
$372

Discounts allowed

$1,452

Discounts received

$876

Returns inwards

$192

Bad debts written off

$564

On 1 October 2010, the balances in the accounts receivable ledger control account agreed with the balances in the accounts receivable ledger. On 31 October 2010, the credit balance in the accounts receivable ledger control account also agreed with the credit balance in the accounts receivable ledger.
Required:

(a) Draw up an accounts receivable ledger control account.
(4.5 marks)
(b) Did the debit balance in the accounts receivable ledger control account agree with the debit balance in the accounts receivable ledger on 31 October 2010? If not, calculate the difference between the two balances.


(0.5 marks)
Answer:
(a)
	Accounts Receivable Ledger Control
	

	2010
	
	$
	
	2010
	
	$
	

	Oct
	1
	Balance b/d
	10,320
	
	Oct
	1
	Balance b/d
	3,480
	
0.5
0.5

	"
	31
	Sales
	14,052
	
	"
	31
	Cash
	8,580
	
0.5
0.5

	 "
	31
	Balance c/d
	144
	
	 "
	31
	Discounts allowed
	1,452
	
0.5
0.5

	
	
	
	
	
	"
	31
	Returns inwards
	192
	

0.5

	
	
	
	
	
	 "
	31
	Bad debts
	564
	

0.5

	
	
	
	
	
	 "
	31
	Balance c/d
	10,248
	

0.5

	
	
	
	24,516
	
	
	
	
	24,516
	


(b)
No, the two debit balances did not agree. The accounts receivable ledger’s debit balance was $1,752 higher ($12,000 – $10,248). 

(0.5 marks)
QUESTION 5
The following information was obtained from the records of Sand Co for the year ended 31 March 2012:
Accounts receivable ledger control account balances as at 31 March 2011:
Debit balance

$79,000

Credit balance

$880

Accounts payable ledger control account balances as at 31 March 2011:
Debit balance

$1,530

Credit balance

$80,000

During the year ended 31 March 2012, the following transactions took place:
Credit sales

$280,520

Cash sales

$89,640

Returns of credit sales

$2,311

Returns of cash sales

$655

Cheques received from trade debtors
$215,000

Discounts allowed 

$13,500

Overdue interest charged to trade debtors
$1,010

Credit purchases

$165,330

Cash purchases

$53,588

Returns of credit purchases
$1,500

Returns of cash purchases
$385

Cheques paid to trade creditors
$135,000

Discounts received

$1,600

Overdue interest charged by trade creditors
$800

Additional information:

(i) Debris Ltd is both a supplier and a customer of Sand Co. The balances of Debris Ltd as at 31 March 2012 were as follows:
Balance in accounts payable ledger
$3,320

Balance in accounts receivable ledger
$5,120


It was agreed that only one account would be maintained for Debris Ltd in the books of Sand Co.

(ii) Details of the minority balances as at 31 March 2012 were as follows:
Accounts payable ledger control account
$1,266

Accounts receivable ledger control account
$299

(iii) Bad debts of $43,100 were written off during the year ended March 2012.
(iv) The allowance for doubtful accounts of $2,000 as at 31 March 2012 was to be maintained at 5% of accounts receivable.
Required:
Prepare the following accounts for Sand Co for the year ended 31 March 2012:

(a) Accounts payable ledger control

(5 marks)
(b) Accounts receivable ledger control

(5.5 marks)
Answer:
(a)
	Accounts Payable Ledger Control
	

	2012
	
	$
	
	2012
	
	$
	

	Mar
	1
	Balance b/f
	1,530
	
	Mar
	1
	Balance b/f
	80,000
	
0.5
0.5

	"
	31
	Returns outwards
	1,500
	
	 "
	31
	Purchases
	165,330
	
0.5
0.5

	"
	31
	Bank
	135,000
	
	 "
	31
	Interest expense
	800
	
0.5
0.5

	"
	31
	Discounts received
	1,600
	
	 "
	31
	Balance c/f (ii)
	1,266
	
0.5
0.5

	"
	31
	Set-off ─ Accounts receivable 
	
	
	
	
	
	
	


	
	
	ledger (i)
	3,320
	
	
	
	
	
	
0.5


	"
	31
	Balance c/f
	104,446
	
	
	
	
	
	
0.5


	
	
	
	247,396
	
	
	
	
	247,396
	


(b)
	Accounts Receivable Ledger Control
	

	2012
	
	$
	
	2012
	
	$
	

	Mar
	1
	Balance b/f
	79,000
	
	Mar
	1
	Balance b/f
	880
	
0.5
0.5

	"
	31
	Sales
	280,520
	
	 "
	31
	Returns inwards
	2,311
	
0.5
0.5

	"
	31
	Interest revenue
	1,010
	
	 "
	31
	Bank
	215,000
	
0.5
0.5

	"
	31
	Balance c/f (ii)
	299
	
	 "
	31
	Discounts allowed
	13,500
	
0.5
0.5

	
	
	
	
	
	 "
	31
	Set-off ─ Accounts payable 
	
	

	
	
	
	
	
	
	
	ledger (i)
	3,320
	

0.5

	
	
	
	
	
	 "
	31
	Bad debts (iii)
	43,100
	

0.5

	
	
	
	
	
	 "
	31
	Balance c/f
	82,718
	

0.5

	
	
	
	360,829
	
	
	
	
	360,829
	


QUESTION 6
The total of balances extracted from the accounts payable ledger of Stone Co on 31 December 2010 amounted to $130,589, which did not agree with the balance of $132,118 shown in the accounts payable ledger control account. The following errors were subsequently discovered:
(i) Discounts received had been correctly posted to individual creditors’ accounts, but had been overcast by $1,200 in the discount column in the cash book.
(ii) A credit balance of $2,137 in a creditor’s account had been shown in the list of accounts payable ledger balances as $213.
(iii) A purchase invoice for $1,425 had been entered twice in the purchases journal and posted twice to the personal account of a creditor.
(iv) A cheque for $14,000 drawn on 10 April 2009 to settle a creditor’s account had not yet been presented to the bank.
(v) A cheque for $3,678 paid to a creditor had been posted to his account as $3,687.
(vi) The purchases journal had been overcast by $596.
(vii) The debit side of a creditor’s account had been overcast by $200.
Required:

(a) Draw up the accounts payable ledger control account to calculate the correct balance.
(3 marks)
(b)
Prepare a statement to show the revised total of the accounts payable ledger balances.
(3 marks)
Answer:
(a)
	Accounts Payable Ledger Control
	

	2010
	
	$
	
	2010
	
	$
	

	Dec
	31
	Purchases entered twice (iii)
	1,425
	
	Dec
	31
	Balance b/d
	132,118
	
0.5
0.5

	"
	31
	Purchases journal overcast (vi)
	596
	
	"
	31
	Discounts received overcast (i)
	1,200
	
0.5
0.5

	 "
	31
	Balance c/d
	145,297
	
	 "
	31
	Bank ─ Stale cheque (iv)
	14,000
	
0.5
0.5

	
	
	
	147,318
	
	
	
	
	147,318
	


(b)
	Statement of Revised Total of Accounts Payable Ledger Balances as at 31 December 2010
	

	
	$
	
	$
	

	Original total of balances
	
	
	130,589
	


0.25

	Add
Credit balance understated ($2,137 ( $213) (ii)
	1,924
	
	
	

0.5


	
Stale cheque (iv)
	14,000
	
	
	

0.5


	
Cheque payment posting error ($3,687 – $3,678) (v)
	9
	
	
	

0.5


	
Casting error (vii)
	200
	
	16,133
	

0.5


	
	
	
	146,722
	

	Less
Purchases entered twice (iii) 
	
	
	(1,425
	)

0.5

	Revised total of balances
	
	
	145,297
	


0.25


QUESTION 7
Mr Tang is a sole proprietor. Information concerning his business for the month of July 2010 is provided below.

Totals for the month of July 2010:

$

Bad debts written off
560

Cash received from trade debtors
2,000

Cheques received from trade debtors 
400,500

Discounts allowed
3,240

Dishonoured cheques from trade debtors
1,860
Interest charged on trade debtors’ overdue accounts
85

Returns inwards journal
3,280

Sales journal
456,200

All sales were made on credit. The accounts receivable ledger control account balance as at 1 July 2010 was $30,485.
Required:

(a)
Write up the accounts receivable ledger control account for the month of July 2010.
(5 marks)
After recording all of the above information in the control account, it was found that the balance did not agree with the total of the accounts receivable ledger balances of $68,442. The following errors were revealed upon investigation:
(i) The return of goods worth $1,230 from a trade debtor was completely omitted from the books.
(ii) The balance in Mable Chan’s account, a trade debtor, had been understated by $3,500.
(iii) A sale of $3,200 had been omitted from the sales journal.
(iv) The balance of the accounts receivable ledger control account as at 1 July 2010 should have been $30,458.
(v) The sales journal had been overcast by $3,670.
(vi) A contra entry of $3,211 had been recorded in the accounts receivable ledger and accounts payable ledger, respectively. No entries were made in the control accounts.
(vii) A cash discount of $200 given to Keith, a trade debtor, had been posted twice by mistake to his account.
Required:

(b) Update the accounts receivable ledger control account to determine the correct balance at 31 July 2010.

(3.5 marks)
(c) Reconcile the total of the accounts receivable ledger balances with the correct balance of the control account.
(2.5 marks)
Answer:
(a)
	Accounts Receivable Ledger Control
	

	2010
	
	$
	
	2010
	
	$
	

	Jul
	1
	Balance b/d
	30,485
	
	Jul
	31
	Bad debts
	560
	
0.5
0.5

	"
	31
	Bank ─ Dishonoured cheques
	1,860
	
	"
	31
	Cash
	2,000
	
0.5
0.5

	"
	31
	Interest revenue
	85
	
	 "
	31
	Bank
	400,500
	
0.5
0.5

	 "
	31
	Sales
	456,200
	
	"
	31
	Discounts allowed
	3,240
	
0.5
0.5

	
	
	
	
	
	"
	31
	Returns inwards
	3,280
	

0.5

	
	
	
	
	
	"
	31
	Balance c/d
	79,050
	

0.5

	
	
	
	488,630
	
	
	
	
	488,630
	


(b)
	Accounts Receivable Ledger Control
	

	2010
	
	$
	
	2010
	
	$
	

	Jul
	31
	Balance b/d
	79,050
	
	Jul
	31
	Returns inwards omitted (i)
	1,230
	
0.5
0.5

	"
	31
	Sales omitted (iii)
	3,200
	
	"
	31
	Error in opening balance (iv) 
	
	
0.5


	
	
	
	
	
	
	
	($30,485 – $30,458)
	27
	

0.5

	
	
	
	
	
	 "
	31
	Sales journal overcast (v)
	3,670
	

0.5

	
	
	
	
	
	"
	31
	Set-off ─ Accounts payable 
	
	

	
	
	
	
	
	
	
	ledger control (vi)
	3,211
	

0.5

	
	
	
	
	
	"
	31
	Balance c/d
	74,112
	

0.5

	
	
	
	82,250
	
	
	
	
	82,250
	


(c)
	Statement of Revised Total of Accounts Receivable Ledger Balance as at 31 July 2010
	

	
	$
	
	$
	

	Original total of balances
	
	
	68,442
	

0.25

	Add
Debtor’s account balance understated (ii)
	3,500
	
	
	
0.5


	
Discounts allowed entered twice (vii)
	200
	
	
	
0.5


	
Sales omitted (iii)
	3,200
	
	6,900
	
0.5


	
	
	
	75,342
	

	Less
Returns inwards omitted (i)
	
	
	(1,230
	)

0.5

	Revised total of balances
	
	
	74,112
	

0.25


QUESTION 8
The following balances were extracted from the books of Sediment Co as at 31 March 2010:


Dr
Cr

Accounts receivable ledger
$23,147



Accounts receivable ledger control
$38,934

Accounts payable ledger

$30,302 
Accounts payable ledger control

$30,302

Upon investigation, the following errors were discovered:
(i) The purchases journal had been undercast by $2,000.
(ii) Bad debts totalling $12,232 should have been written off.
(iii) A debt of $1,500 written off in 2008 was recovered on 31 March 2010, but no entry was made in the control account.
(iv) Goods amounting to $2,100 returned by Mandy Chow, a trade debtor, were wrongly recorded in the returns outwards journal. The amount was then posted to the debit side of Mandy Chow’s account in the accounts receivable ledger.
(v) The owner took $4,550 worth of goods for private use but this had been wrongly treated as credit sales. The amount was recorded in the sales journal and the accounts receivable ledger.
(vi) A contra entry of $3,500 in the control accounts was entered on the debit side of the accounts receivable ledger control account and the credit side of the accounts payable ledger control account.
(vii) Discounts allowed of $327 had been correctly posted to the individual debtors’ accounts, but credited in the discounts received column of the cash book.
(viii) The debit balance of a trade debtor’s account of $10,560 had been omitted from the list of accounts receivable ledger balances and wrongly shown as a credit balance of $7,560 in the list of the accounts payable ledger balances.
(ix) A cheque for $6,544 paid to a creditor had been posted to his account as $6,455.
(x) Goods amounting to $2,865 had been returned to a supplier and his account was debited for the return accordingly. However, no record had been made in the return outwards journal.
Required:

(a) Write up the accounts receivable ledger control account and show the balance as at 31 March 2010.


(4.5 marks)
(b) Write up the accounts payable ledger control account and show the balance as at 31 March 2010.


(3.5 marks)
(c) Prepare a statement to revise the total of accounts receivable ledger balances.
(2.5 marks)
(d) Prepare a statement to revise the total of accounts payable ledger balances.
(1.5 marks)
Answer:
(a)
	Accounts Receivable Ledger Control
	

	2010
	
	$
	
	2010
	
	$
	

	Mar
	31
	Balance b/d
	38,934
	
	Mar
	31
	Bad debts (ii)
	12,232
	
0.5
0.5

	"
	31
	Bad debts recovered (iii)
	1,500
	
	 "
	31
	Bank ─ Bad debts recovered (iii)
	1,500
	
0.5
0.5

	
	
	
	
	
	 "
	31
	Returns inwards omitted (iv)
	2,100
	

0.5

	
	
	
	
	
	 "
	31
	Sales overstated — Drawings (v)
	4,550
	

0.5


	
	
	
	
	
	 "
	31
	Accounts payable ledger control — Contra entry error ($3,500 × 2) (vi)
	7,000
	

0.5

	
	
	
	
	
	 "
	31
	Discounts allowed omitted (vii)
	327
	

0.5

	
	
	
	
	
	 "
	31
	Balance c/d
	12,725
	

0.5

	
	
	
	40,434
	
	
	
	
	40,434
	


(b)
	Accounts Payable Ledger Control
	

	2010
	
	$
	
	2010
	
	$
	

	Mar
	31
	Accounts receivable ledger control — Contra entry error (vi)
	
	
	Mar
	31
	Balance b/d
	30,302
	

0.5

	
	
	
	7,000
	
	 "
	31
	Purchases journal undercast (i)
	2,000
	
0.5
0.5

	 "
	31
	Returns outwards omitted (x)
	2,865
	
	 "
	31
	Returns outwards overstated (iv)
	2,100
	
0.5
0.5

	"
	31
	Balance c/d
	24,864
	
	 "
	31
	Discounts received overstated (vii)
	327
	
0.5
0.5

	
	
	
	34,729
	
	
	
	
	34,729
	


(c)
	Statement of Revised Total of Accounts Receivable Ledger Balances as at 31 March 2010
	

	
	$
	
	$
	

	Original total of balances
	
	
	23,147
	

0.25

	Add  Debit balance omitted (viii)
	
	
	10,560
	

0.5

	
	
	
	33,707
	

	Less  Bad debts written off (ii)
	12,232
	
	
	
0.5


	Returns inwards wrongly debited to Mandy Chow’s account ($2,100 ( 2) (iv)
	4,200
	
	
	
0.5


	Sales overstated — Drawings (v)
	4,550
	
	(20,982
	)
0.5


	Revised total of balances
	
	
	12,725
	

0.25


(d)
	Statement of Revised Total of Accounts Payable Ledger Balances as at 31 March 2010
	   

	
	$
	
	$
	

	Original total of balances
	
	
	32,513
	

0.25

	Less  Debit balance in the accounts receivable ledger shown as a credit balance in accounts payable ledger (viii)
	7,560
	
	
	
0.5


	Cheque payment posting error ($6,544 ( $6,455) (ix)
	89
	
	(7,649
	)
0.5


	Revised total of balances
	
	
	24,864
	

0.25


QUESTION 9
The following balances were extracted from the books of Sky Target Co on 31 July 2010:


$

Accounts payable ledger control account, 1 July 2010   
163,252

Transactions during the month of July 2010:

Cash purchases

52,300

Credit purchases
   72,550

Cash and cheque payments to trade creditors
   83,567
Discounts received
3,900

Returns outwards on cash purchases
3,265

Returns outwards on credit purchases
4,650

Required:

(a) Draw up the accounts payable ledger control account for the month of July 2010.
(3 marks)
The total of the accounts payable ledger balances showed a credit balance of $164,005 as at 31 July 2010 and differed from the control account balance. Upon investigation, the following errors were discovered:

(i) The purchases journal had been undercast by $4,600.

(ii) Office equipment costing $2,500 bought on credit had been recorded in the purchases journal.

(iii) A cheque of $3,520 was issued to a trade creditor. The payment had been properly recorded in the cash book but had not been posted to the creditor’s account.

(iv) Goods purchased with a list price of $1,500 had been returned to the supplier due to defects. The supplier had given a trade discount of 15% on these goods. The return had not been recorded in the books of Sky Target Co.

(v) A cheque payment of $13,500 to a trade creditor had been correctly recorded in the cash book but debited to a debtor’s account in the accounts receivable ledger. 

(vi) A purchase invoice of $4,720 had been recorded in the purchases journal as $4,120.

(vii) A contra arrangement of $1,300 with a trade creditor had been recorded in the accounts receivable and accounts payable ledgers but not in the control accounts.

Required:

(b)
Update the accounts payable ledger control account with the required adjustments. Start with the balance worked out in part (a).
(3.5 marks)
(c)
Prepare a statement to reconcile the updated accounts payable ledger control account balance with the total of the accounts payable ledger balances.
(3.5 marks)
Answer:
(a)
	Accounts Payable Ledger Control
	

	2010
	
	$
	
	2010
	
	$
	

	Jul
	31
	Cash and bank
	83,567
	
	Jul
	1
	Balance b/d
	163,252
	
0.5
0.5

	"
	31
	Discounts received
	3,900
	
	 "
	31
	Purchases
	72,550
	
0.5
0.5

	"
	31
	Returns outwards
	4,650
	
	
	
	
	
	
0.5


	"
	31
	Balance c/d
	143,685
	
	
	
	
	
	
0.5


	
	
	
	235,802
	
	
	
	
	235,802
	


(b)
	Accounts Payable Ledger Control
	

	2010
	
	$
	
	2010
	
	$
	

	Jul
	31
	Office equipment (ii)
	2,500
	
	Jul
	31
	Balance b/d
	143,685
	
0.5
0.5

	"
	31
	Returns outwards (iv)
	
	
	 "
	31
	Purchases (i)
	4,600
	

0.5

	
	
	  ($1,500 × 85%)
	1,275
	
	 "
	31
	Purchases ($4,720 – $4,120) (vi)
	600
	
0.5
0.5

	"
	31
	Set off — Accounts receivable    
ledger control (vii)
	1,300
	
	
	
	  
	
	
0.5


	"
	31
	Balance c/d
	143,810
	
	
	
	
	
	
0.5


	
	
	
	148,885
	
	
	
	
	148,885
	


(c)
	Statement Reconciling the Total of Accounts Payable Ledger Balances with
the Accounts Payable Ledger Control Account Balance as at 31 July 2010
	

	
	$
	
	$
	

	Total of accounts payable ledger balances before adjustments
	
	
	164,005
	

0.5

	Add
Purchases understated (vi)
	
	
	600
	

0.5

	
	
	
	164,605
	

	Less
Office equipment purchases recorded as goods purchase (ii)
	2,500
	
	
	
0.5


	
Payment to a trade creditor omitted (iii)
	3,520
	
	
	
0.5


	
Returns outwards omitted (iv)
	1,275
	
	
	
0.5


	
Payment to a trade creditor wrongly debited to accounts receivable ledger (v)
	13,500
	
	(20,795
	)
0.5


	Revised total of accounts payable ledger balances
	
	
	143,810
	

0.5


QUESTION 10
The following balances were extracted from the books of True Success Co on 31 December 2010:


Dr
Cr


$
$

Accounts payable ledger

37,520
Accounts payable ledger control

42,580

Accounts receivable ledger
58,010

Accounts receivable ledger control
57,800

The reasons for the differences between the ledger account balances and the control account balances are as follows:

(i) A credit balance of $2,500 had been omitted from the creditors’ list and wrongly shown as a debit balance of $3,500 in the debtors’ list.

(ii) Discounts received of $260 had been correctly posted to the individual creditors’ accounts, but incorrectly debited to the discounts allowed column of the cash book.

(iii) The sales journal had been overcast by $2,850.

(iv) The purchases journal had been undercast by $300.

(v) The owner had taken goods worth $2,000 for own use, but the amount was recorded in the sales journal and accounts receivable ledger.

(vi) A contra entry of $900 had been made on the debit side of the accounts receivable ledger control account and the credit side of the accounts payable ledger control account.

(vii) A debit balance of $300 had been recorded twice in the debtors’ list.

(viii) Goods returned to the supplier J C Ltd that cost $800 had been wrongly recorded in the returns inwards journal and debited to J Chan’s account in the accounts payable ledger.

(ix) A debt of $680 written off as a bad debt in the last accounting year had been recovered during the year, but this transaction had not been recorded in the control account.

Required: 

(a)
Draw up the accounts payable ledger control account and the accounts receivable ledger control account.
(7 marks)
(b)
Prepare statements to correct the accounts payable ledger balances and the accounts receivable ledger balances.
(3 marks)
Answer:
(a)
	                       Accounts Payable Ledger Control
	

	2010
	
	$
	
	2010
	
	$
	

	Dec
	31
	Discounts received omitted (ii)
	260
	
	Dec
	31
	Balance b/f
	42,580
	
0.5
0.25

	"
	31
	Accounts receivable ledger
	
	
	 "
	31
	Purchases journal undercast (iv)
	300
	

0.5

	
	
	control — Contra entry error
	
	
	
	
	
	
	

	
	
	($900 × 2) (vi)
	1,800
	
	
	
	
	
	
0.5


	"
	31
	Returns outwards omitted (viii)
	800
	
	
	
	
	
	
0.5


	"
	31
	Balance c/f
	40,020
	
	
	
	
	
	
0.5


	
	
	
	42,880
	
	
	
	
	42,880
	


	                       Accounts Receivable Ledger Control
	

	2010
	
	$
	
	2010
	
	$
	

	Dec
	31
	Balance b/f
	57,800
	
	Dec
	31
	Sales journal overcast (iii)
	2,850
	
0.25
0.5

	"
	31
	Discounts allowed overstated (ii)
	260
	
	 "
	31
	Sales overstated ─ Drawings (v)
	2,000
	
0.5
0.5

	"
	31
	Returns inwards overstated (viii)
	800
	
	 "
	31
	Accounts payable ledger control — 
	
	
0.5


	"
	31
	Bad debts recovered (ix)
	680
	
	
	
	Contra entry error (vi)
	1,800
	
0.5
0.5

	
	
	
	
	
	 "
	31
	Bank ─ Bad debts recovered (ix)
	680
	

0.5

	
	
	
	
	
	 "
	31
	Balance c/f
	52,210
	

0.5

	
	
	
	59,540
	
	
	
	
	59,540
	


(b)
	Statement to Correct the Total of Accounts Payable Ledger Balances as at 31 December 2010
	

	
	
	
	$
	

	Total of accounts payable ledger balances before adjustments
	
	
	37,520
	

0.25

	Add
Credit balance omitted from the creditors’ list (i)
	
	
	2,500
	

0.5

	Corrected total of accounts payable ledger balances
	
	
	40,020
	

0.25


	Statement to Correct the Total of Accounts Receivable Ledger Balances as at 31 December 2010
	

	
	$
	
	$
	

	Total of accounts receivable ledger balances before adjustments
	
	
	58,010
	

0.25

	Less
Credit balance omitted from the creditors’ list and shown as  
	3,500
	
	
	
0.5


	  a debit balance in the debtors’ list (i)
	
	
	
	

	Sales overstated ─ Drawings (v)
	2,000
	
	
	
0.5


	Debit balance recorded twice (vii)
	300
	
	(5,800
	)
0.5


	Corrected total of accounts receivable ledger balances
	
	
	52,210
	

0.25
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